Lecture 14: Kinetics

Announcements:
Problem Set 3 due Thursday, 10/20
+ Office Hours: Wed 2:30, 208 LDL (MPW)
Thurs, 10-11, 220 BRL (SS)
+ Seminar Friday, 4pm, 219 BRL: Prof Antonio Echavarren
"Total Synthesis with a Golden Touch"
Thurs in lecture: Midterm 1 (be prepared to go to the board!)

Today:

« Hammond Postulate (continued)

« Composition of Transition States from Kinetics (rate equations)
+ Midterm 1: statistics, brief comments, and returning the exam

Electrophilic Aromatic Substitution as an Example for the Hammond Postulate
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